HAFELE

Sliding Glass

Top Hung System
EKU-Porta 100/G

e For 1 and 2 sliding glass doors
* Smooth quiet operation
* Maintenance-free
* Rattle-free bottom guide
* Simple installation
* No glass cut-outs required
e \ertical adjustment without

removing the glass door

e Maximum door weight: 100 kg (220 Ibs.)
e For glass thickness: 6 - 12.7 mm (1/4” - 1/2”)

Installation Tips

When using 2 sliding doors on the same track, please make sure
that glass panels do not collide. Please use a lower guide chan-
nel with a door stopper or use protective edge trim.

Wall Mounted Ceiling Mounted
44
,71§“4.
o5 32 o5
g 30 g
171
32
20 11
= 1
,_[32 . 16
14 T &5
B TRk ‘
%14 ez |
Ja 5 J | ea
@ b 25 —
9% 825 +af i
A -4 EE yu——
3 f‘ 32 43| A
r S
5} e Qo
7
G264 G o3y &0
« < 124 3% 18
15(10 19 | 19 10 19 | 4F &
19"|25" 3" I 3" |25" 3" I
32_|64 4 I 4 |64 4 n
8 - 12.7 = 8- 127 £
L Gz g
16 - 2 ° 16 " 2 °
E <
0 13
1] [
k| 8
(5] S
o 4 o 4 /
, )
i b 14 Ey Eﬁ
‘ 35 \__ o4 ?5\\ o4 0 | o4
13 5 13 5 131" 5
8 32 8 32 32 32

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™

Dimensional data not binding. We reserve the right to alter specifications without notice.



Dimensional data not binding. We reserve the right to alter specifications without notice.

HAFELE

Sliding Glass

Top Hung System

EKU-Porta 100/G

Fitting Sets
1 set 941.00.007
Consisting of: Description Material/Finish/Color Packing [tem No.
,f N
m Double roller running gear 2 pcs. 941.00.012
®©
g Suspension bolt, M8 x 35 steel, zinc-plated 2 pcs. 940.60.021
8 Set nut, M8 steel, zinc-plated 2 pcs. 940.60.022
Clamp shoe adjustable from aluminum, mill finish 2 pcs. 941.00.020
6-12.7 mm (1/4" - 1/2")
% Track stopper, with adjustable retention spring plastic, gray 1 pc. 940.60.043
ﬁ Track stopper plastic gray 1 pc. 940.60.041
]
? Floor guide, adjustable from 1 pc. 941.00.031
&8 6 -12.7 mm (1/4" - 1/2")
@ Buffer rubber, black 1 pe. 940.60.051
Note: e ltem numbers are valid for only 1 piece, when ordering individual components please state the desired amount
e For 2 bi-parting sliding glass doors please order 2 sets
Upper Tracks, pre-drilled, 41 x 39 mm (1 39/64" x 1 17/32")
Description Material Item No.
25m (8 27/16" aluminum, unanodized 941.00.253
6.0m (19’ 8 1/4") aluminum, unanodized 941.00.603
Packing: 1 pc.
Clip-on Fascia to upper track, 94.5 x 9 mm (3 23/32" x 23/64")
Description Material [tem No.
y 25m (8 27/16" aluminum, anodized 941.00.825
6.0m (19’ 8 1/4") aluminum, anodized 941.00.860
Packing: 1 pc.
Components
Description Material/Color Packing Item No.
End piece to fascia, one-sided,
® @ wall mounted, 44.5 mm (1 3/4”) aluminum, anodized 1 set 941.00.066
® ¥ End piece to fascia, one-sided,
ceiling mounted, 49 mm (1 59/64”) aluminum, anodized 1 set 941.00.070
P Clip piece for wood fascia,
) 30 x 10 x 47 mm aluminum, unanodized 1 pc. 941.00.065
W Seal, 20 m (65’ 7 7/16”) plastic, black 1 roll 941.00.094

Installation Plan: (included in fitting set), mounting instructions
for planning and execution are available upon request.

Mounting options
with wood fascias

46 13§
25 & 23
o min. 43%- ji
<&'§s 'min. Gﬁ“
64
24
T
16
64
28
Wall
mounted

Accessories
e Floor mounted door stop, (refer to page 313)
e HAWA-Toplock, (refer to pages 396-400)

23

Ceiling
mounted

Fixing distance for clip component
every 400 to 600 mm (15 3/4"-23 5/8")

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™




HAFELE Sliding Glass

Top Hung System

EKU-Porta 100/GF

e Combination sliding and fixed glass e Maximum door weight: 100 kg (220 Ibs.)

e For 1 and 2 sliding glass doors e For glass thickness: 8 - 12.7 mm (5/16" - 1/2")

e Suspension with clamping shoe

e Rattle-free bottom guide

e Simple installation Installation Tips

* No glass cut-outs required When using 2 sliding doors on the same track, please make

e \ertical adjustment without removing sure that glass panels do not collide. Please use a lower guide
the glass door channel with a door stopper or use protective edge trim.

Wall Mounted Ceiling Mounted
64.5 0
2% 2%
o5 62 o5 — 5 —
3" " 3" L
3 25 & 2
slz 141 2 3‘\.4
-
. d
'q;\:s [ . T 3 3
S L 8§
gk =
3|~ =t o _ o
EIETI e
-8 80
ol 9 35
Taptite M 4 x 10 7007| |7 z Taptite M4 x 10 . 124 18
Hg T 0 i
) 810175 [1o| 19 | - N 4 &
Sloe Bl AT || 3 | &3 g ' S
2 6l6a | 16 64| 4 LY e & & ~
z (8-10) (8-10) IS z 3100 (810 z
» G- &9 z » 5 8) % 5 z
5| 24 {27+ I £ 2.7% 127 £
5 2 & L 2 T T =
2 z z 5 £ z z 2
4 o I’} a
8 - 8 38 s 21
[} g © 7 © 3"
e © ol o
HE s -
— 5 ®| « by ~E @ ® |
o] Ve e 2| Ve Y
=2 ~ ol | ~ olgy
1 [ [
© oo /% © Hjo
04 (20 | 35 |~ 04 04 |20 | 35 | o4
5 25 13 5 5 25 13 5
32 32 8 32 32 32 8 32

*12.7 mm glass possible with silicone sealing

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™

Dimensional data not binding. We reserve the right to alter specifications without notice.



Dimensional data not binding. We reserve the right to alter specifications without notice.

HAFELE

Sliding Glass

Top Hung System

EKU-Porta 100/GF

Fitting Set
1 set 941.00.007
Consisting of: Description Material/Finish/Color Packing Item No.
Double roller running gear 2 pcs. 941.00.012
Suspension bolt, M8 x 35 steel, zinc-plated 2 pcs. 940.60.021
Set nut, M8 steel, zinc-plated 2 pcs. 940.60.022
Clamp shoe adjustable from aluminum, mill finish 2 pes. 941.00.020
6-12.7 mm (1/4" - 1/2")
% Track stopper, with adjustable retention spring plastic, gray 1 pc. 940.60.043
% Track stopper plastic gray 1 pc. 940.60.041
g Floor guide, adjustable from 1 pc. 941.00.031
6-12.7 mm (1/4" - 1/2")
Buffer rubber, black 1 pc. 940.60.051
Note: Item numbers are valid for only 1 piece, when ordering individual components please state the desired amount
Upper Tracks, pre-drilled, 95 x 62 mm (3 47/64" x 2 7/16")
Material [tem No.
25m (8 27/16") aluminum, unanodized 941.00.254
6.0m (19’ 8 1/4") aluminum, unanodized 941.00.604
Packing: 1 pc.
Clip-on Fascia to upper track, 94.5 x 9 mm (3 23/32" x 23/64")
Material Item No.
- 25 m (8 27/16" aluminum, anodized 941.00.825
6.0m (19’ 8 1/4") aluminum, anodized 941.00.860
Packing: 1 pc.
Support Profile for Fixed Glass, pre-drilled, 53 x 19 mm (2 3/32” x 3/4”)
Material [tem No.
~25m (8 27/16" aluminum, anodized 941.01.825
6.0m (19’ 8 1/4") aluminum, anodized 941.01.860
Packing: 1 pc.
Fixed Glazing Profile/Lower Guide Channel, pre-drilled, 30 x 20 mm (1 3/16” x 25/32”)
Material Item No.
/ < 25m (8 27/16" aluminum, anodized 941.01.725
o
6.0m (19’ 8 1/4") aluminum, anodized 941.01.760
Packing: 1 pc.
Components
Material/Color Packing [tem No.
%E Fixing set for support profile and fixed
% glazing profile 1 set 941.01.899
- End piece to fascia, one-sided, wall mounted,
® ® 64 mm (2 33/647) aluminum, anodized 1 set 941.00.068
Q) @ End piece to fascia, one-sided, ceiling mounted,
70 mm (2 3/4”) aluminum, anodized 1 set 941.00.069
Sealing profile
20m (65’ 7 7/167) rubber, black 1 roll 941.00.108
W Seal, 20 m (65’ 7 7/16”) plastic, black 1 roll 941.00.094

Accessories
e Floor mounted door stop, (refer to page 313)
e HAWA-Toplock, (refer to pages 396-400)

Installation Plan: (included in fitting set), mounting instructions for
planning and execution are available upon request. Dimensions in mm are exact

Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™




HAFELE

Sliding Glass

Top Hung System

EKU-Porta 100/GFO

e Combination sliding and fixed glass including

overhead glass transom

e For 1 and 2 sliding glass doors
® Suspension with clamping shoe

* Rattle-free bottom guide
e Simple installation

* No glass cut-outs required
e \lertical adjustment without removing the glass door

Dimensions in mm are exact
Inches are approximate

e Maximum door weight: 100 kg (220 Ibs.)
e For glass thickness: 8 - 12.7 mm (5/16" - 1/2")
e Maximum clear width: 3048 mm (10')

Installation Tips

When using 2 sliding doors on the same track, please make
sure that glass panels do not collide. Please use a lower guide
channel with a door stopper or use protective edge trim.

8 20
HERP=N -1
y e
‘""—\w
30| g by b
11%. of ® 16
=f 4 g3 (S
£g9<[©
5= 2 | L max. 3048 (10' 0") |
70 2 o)y Glass width = L - 20 (%)
23" o
29 |E 30
S 13
I E0 0] — 1
fg;" 5] Taptite Taptite M5x20  5q&
, Py M5 x 12 Taptite M 5 x 12 12
s
B4
64
94 95 78
64 0
w0 1%
o)
PHE
» —
53
Taptite — e 12? 18‘ 21‘ H
M4x10 < 4F & | &
Il 2o T
go [ H-77
-
e e
k: @
[0 Et (_‘;
©lay
15 73‘§ Niog | - 12‘6
15% | ‘-‘v-l"l aN| {l S 32 | [
3 al g
% E
o4 w94 50 o4
E 32 8 0% 13" o8

*12.7 mm glass possible with silicone sealing

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™

Dimensional data not binding. We reserve the right to alter specifications without notice.



Dimensional data not binding. We reserve the right to alter specifications without notice.

HAFELE

Sliding Glass

Top Hung System

EKU-Porta 100/GFO

Fitting Set

1 set 941.00.007

Consisting of: Description Material/Color Packing [tem No.
Double roller running gear 2 pcs. 941.00.012
Suspension bolt, M8 x 35 zinc-plated steel 2 pcs. 940.60.021
Set nut, M8 zinc-plated steel 2 pes. 940.60.022
Clamp shoe adjustable from aluminum, mill finish 2 pcs. 941.00.020
6-12.7 mm (1/4" - 1/2")
Track stopper, with adjustable retention spring plastic, gray 1 pc. 940.60.043
Track stopper plastic, gray 1 pc. 940.60.041
Floor guide, adjustable from 1 pc. 941.00.031
6-12.7 mm (1/4" - 1/2")
Buffer rubber, black 1 pc. 940.60.051

Wall Brackets

Note: ltem numbers are valid for only 1 piece, when ordering individual components please state the desired amount

Packing [tem No.
@
A = o
@Ajﬁ Ay, Set for mounting 1 upper track 1 set 941.00.060
5"
V
Upper Tracks, pre-drilled, 95 x 62 mm (3 47/64" x 2 7/16")
Material [tem No.
. 25m (8 27/16" aluminum, unanodized 941.00.254
6.0m (19° 8 1/4") aluminum, unanodized 941.00.604
Reinforcement Profile, 43 x 70 mm (1 11/16” x 2 3/4")
Material [tem No.
b/ / 2.5m (8 27/16" aluminum, anodized 941.01.525
6.0 m (19’ 8 1/4") aluminum, anodized 941.01.560
Clip-on Fascia to upper track, 94.5 x 9 mm (3 23/32" x 23/64")
Material Item No.
~ 25m (8 27/16") aluminum, anodized 941.00.825
6.0m (19’ 8 1/4") aluminum, anodized 941.00.860
Support Profile for Fixed Glass, pre-drilled, 53 x 19 mm (2 3/32” x 3/4”)
Material [tem No.
25m (8 27/16" aluminum, anodized 941.01.825
6.0m (19’ 8 1/4") aluminum, anodized 941.01.860
Fixed Glazing Profile/Lower Guide Channel, pre-drilled, 30 x 20 mm (1 3/16” x 25/32”)
Material [tem No.
=
o 25m (8 27/16" aluminum, anodized 941.01.725
f =< o
> 6.0m (19’ 8 1/4") aluminum, anodized 941.01.760
Angle Profile for Fixed Glass, pre-drilled, 30 x 19 mm (1 3/16" x 3/4")
Material Item No.
2.0m (6’ 6 3/4") aluminum, anodized 941.01.420

Packing: 1 pc.

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™




HAFELE Sliding Glass

Top Hung System

EKU-Porta 100/GFO

Angle Profile for Fixed Glass, 30 x 17 mm (1 3/16" x 11/16")

Description Material [tem No.
/ 2.0m (6' 6 3/4") aluminum, anodized 941.01.320
Packing: 1 pc.
Wall Profile, 38 x 21 mm (1 1/2" x 59/64")
Description Material [tem No.
? 25m(8'27/16") aluminum, anodized 941.24.925
3.5m(11'513/16") aluminum, anodized 941.24.935
Packing: 1 pc.
Rubber Seal for Wall Profile
Description Color Item No.
// 25 m@8'27/16" black 941.24.081
3.5m (11'513/16") black 941.24.082
Packing: 1 pc.
Components
Description Material/Color Packing [tem No.
Fixing set for support profile and
m %%g& fixed glazing profile 1 set 941.01.899
% Sealing profile, 20 m (65' 7 7/16") rubber, black 1 roll 941.00.103
% Seal, 20 m (65' 7 7/16") plastic, black 1 roll 941.00.094
Accessories

Installation Plan: (included in fitting set), mounting instructions for

* Floor mounted door stop, (refer to page 313) planning and execution are available upon request.

o HAWA-Toplock, (refer to pages 396-400)

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™

Dimensional data not binding. We reserve the right to alter specifications without notice.



HAFELE

Sliding Glass

Top Hung System

EKU-Porta 100/GU

e For 1 and 2 sliding glass doors

e Smooth quiet operation

¢ Maintenance-free

o Rattle-free bottom guide

e Simple installation

e \ertical adjustment without removing
the glass door

e Maximum door weight: 100 kg (220 Ibs.)
e For glass thickness of 8 - 12.7 mm (5/16" - 1/2")

Installation Tips

When using 2 sliding doors on the same track, please make sure
that glass panels do not collide. Please use a lower guide channel
with a door stopper or use protective edge trim.

Dimensional data not binding. We reserve the right to alter specifications without notice.

Wall Mounted
45
T4
25 2 43
& 39 =
T I3
%2 min. 20
g
32
1\
s . Ple
] 3| G
- hrs 5 F,'?’
«ls
I 3
+1-3
p H &8
o 5|78
0 o
Hle
= fl
o Q ; 7
2 .
: 9 |9 B
- 2|, 1% 53
.g, oN
s T < T
15 [10| 20 @ .
19" 250 25 8 m
32 |64 | 32 o -
15 (10| 20 £
. o
(8-127) Q 1o | om0 o 2
(i" - l") 32 |64 32 <
16 2 7]
(8-12.7) 8
" " 1G]
G -3
! <
(il L7 (l 7
@ ﬁ 1 @ B |
; 7 — ~Pp 3 g~
T n b 0
* st &t
;;\ b
3/ Ne4 3B N\ 94
13 5 13 5
8 32 8 32

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™




HAFELE Sliding Glass

Top Hung System

EKU-Porta 100/GU

Fitting Sets
1 set 941.00.007
Consisting of: Description Material/Finish/Color Packing Item No.

.
@fé{(@ Double roller running gear 2 pcs. 941.00.012

g Suspension bolt, M8 x 35 steel, zinc-plated 2 pcs. 940.60.021
e Set nut, M8 steel, zinc-plated 2 pes. 940.60.022

Clamp shoe adjustable from aluminum, mill finish 2 pcs. 941.00.020
6-12.7 mm (1/4" - 1/2")

Track stopper, with adjustable retention spring plastic, gray 1 pc. 940.60.043
Track stopper, plastic, gray 1 pc. 940.60.041
Floor guide, adjustable from 1 pc. 941.00.031

6-12.7 mm (1/4" - 1/2")

Buffer rubber, black 1 pc. 940.60.051

Note: ¢ Item numbers are valid for only 1 piece, when ordering individual components please state the desired amount
e For 2 bi-parting sliding glass doors please order 2 sets

Mounting Examples
With continuous clip-on fascia, With short clip-on fascia, glass cut-outs required
glass cut-outs not required

B C

4_2 63

s o3t

@l|les 28 pl
32

- e
e Qe
ik
" 2 lhs 124
5|18 z
18, :27‘.? = %4 & min. 150 43 4
&g TB = Glass Width &
NI
i
R10
25'
64

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™

Dimensional data not binding. We reserve the right to alter specifications without notice.



Dimensional data not binding. We reserve the right to alter specifications without notice.

H-AFELE Sliding Glass

Top Hung System

EKU-Porta 100/GU

Upper Tracks, pre-drilled, 41 x 39 mm (1 39/64" x 1 17/32")
Description Material [tem No.

25 m (8 27/16" aluminum, unanodized 941.00.253
6.0m (19’ 8 1/4") aluminum, unanodized 941.00.603

Packing: 1 pc.

Clip-on Fascia, to upper track, 46 x 43 mm (1 13/16" x 1 11/16")
Description Material [tem No.

W 25m (8 27/16" aluminum, anodized 941.01.925
6.0m (19’ 8 1/4") aluminum, anodized 941.01.960

Packing: 1 pc.

Clip-on Fascia, to clamping shoe, 56 x 10 mm (2 13/64" x 25/64")

Description Material [tem No.
éﬂ%%
0 2
% - 25m(8'27/16" aluminum, anodized 941.01.625
L \59/“/@/ﬁ
Packing: 1 pc.

® Has to be cut to size, refer to drawings on page 336

End Caps, to clip-on fascia to upper track and clamp shoe

Description Material/Color [tem No.
; Order requirements: plastic, anthracite 941.01.999
Option A 1 set
@E OptionBand C 2 sets
@ %
L

Packing: 1 set

Installation Plan: (included in fitting set), mounting instructions Accessories

for planning and execution are available upon request. ¢ Floor mounted door stop, (refer to page 313)

o HAWA-Toplock, (refer to pages 396-400)

Clip-on Fascias and End Caps can also be
used for the HAWA-Junior 40 and 80/GS sliding
systems, (refer to pages 290-293)

Dimensions in mm are exact
Inches are approximate

Call 1-800-423-3531 from anywhere in the US - www.hafele.com™




	328
	329
	330
	331
	332
	333
	334
	335
	336
	337

